ME 405 Fall 2006 Professor John M. Cimbala Lecture 12  10/02/2006
Today, we will: Ve T Sf oMt M OV\Q\A how o S?"“ e \Sfon
Begin Chapter 4 — Emission Rates 3, e,m@m,a>

Discuss some definitions and notation
Discuss Emission Factors in Section 4.3
Do some example problems

Discuss Flux Chambers in Section 4.1
Do some example problems
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Example

Given: A steel mill has an open hearth furnace with which it does melting and

refining. The furnace refines about 8 tons of steel per hour on average.

To do: Estimate the uncontrolled emission rate of particles in kg/hr.
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Example

Given: A small kerosene space heater is used for supplemental
heating of a home. It burns 1 gallon of kerosene in about 5 hours.

To do: Estimate the uncontrolled emission rate of carbon monoxide
into the room in units of g/hr.
Solution:
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